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Tirne Allottt:d : 2 l-lbms Full Marks:50

T]te"f.qurr:s in ilrc mcrgin irxlicute {rtll urark.y. qlkil. qM{ q4rq w"fift ffi Mt wa t
Candrtiaas sltor/tl rrr*rr v.r itr tlteirouvr rrun/r. "r{tqtil* frew vtw uoly-qgq 'tqfrw Y'ff
arrdodtere to tln ynrd linrit as practicable. 6w qfrat

A[l symbol,r are of urual significance.

i any str qucstions from the following:

R-ffit gffi U|c{quE-{ql€s

between Gross National Product (GI'{P) and Gross Domestic Product

(GDP).

Sqet(ia s mF qq'sa.l Bq"ftT{-gK Ec{ "ftaFsi scstl

Transfer Income.

\qtGKxe'trte t

(c) What is the difference between Average Saviggs Propensity and Marginal

Savings ProPensitY?

eK{s,t s EtB+q+x eifisrdqHl qtds]fi p

then what will be the value

Tsqr{ ?

(e) Wrtte doum the equation of Quantity Theory of Mouey'

Erq{qfi-fi"[B mrlt t

lMrite down anY two functions of moneY.

is-6s.rHl ltF s'rq ffic{trt I

Mr an4 M.
Mz-q?'iFRBlEIs t

ft) Define stagflation.

ffifiFaxgtqtet
(i) What is velocity of circulation of money?

lrycqfaqEEHatBft f

O Define 'Full EmPloYment'.

' 1ffican w<a'-q qiwl rl\e I

2x6= 12

Mr €1(
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i)enrand Pull Inllatiott'

Nirtiortll I ttcotrtr:'

ltNl
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Et-{.ilm ffH{ qRIfir qfr-h:r({lr qrtsB c{46ml .q$t

I

{snfr&a
q\wlslsl

t clx? * I

i1K'fc$ cfqv v'tSlrr s{$'JlI\
-a"

g$'tftitc <lorrn U: **Yristics 
of tt*w 

cgHqc{tnr*q?nltEirul& mcufl t

{c) Esptnitr thc rcl*tionship bctrvccn

2, Atrstvcr itrl)' trro qrrestiotrs li'otn thc fnllorvirtg:

cq-r{'lr.{ 5,tr amx SsqxNr

lrcts'cen Rcal Natioft,tl Itlcnrno mtd Nonrinnl Nntionnl Incnnre with

$flIQq $sH \sr{K rtlNt "fi{sj CIltlN t

CotrstrtnPt ion l\urctiou'

Mnrgirrul lillicicncy of Cttpitnl nnd luterest

ltnte.

x{qfis Et{ttF rTsrst \5 wr{ qcqq q"qdI{Ittut rKfl 1

(d) \\rrite u short note on Phittips Curvc.

ftft,iq std'q{ srist qtnlB x{Ss fiq mc$ t

3. Ansnrcr nny fllrec qttestions from the follorving:

fi-CFI6il tr$' effiKfuqrTtsl

tire Circular Florv ofNntional Incotne in n tsro sector rqodel rvith diagrsm

(c)

qE(ft'q|\qRffiErlmlt
qfr C = 40 + 0.8I' qq\ .I = 60 qq, s'f,{ I{tR rnps*a<aFffi$5{1

(d) Discuss horv tbe comnrerciel banlcs create crpdit'
rmqlr

is inflation? Discuss: the differern* beturcen Dsmsnd Pull and Cost-Push

?dffiIffi ts :rt-{frisfills 1ntSS-< rcu "tlf+.I 
qtffilu.{l ep'r*l t

of Inflationnry Gnp rvith diagranr" Discuss $ny one nress\re

t0x3 = 30

cl+3+3

6{4

a+s

5+5

. X.-

2


